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Sample Paper- 2015
Subject: Mathematics 
Class 10th 

Question paper for S.A. 1 {sept 2015}
Section – A {1 marks}
1. ΔABC & Δ PQR are similar Δ’s such that 
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2. The number 
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is rational or irrational.

3. Find the value of 
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4. If 
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 Find the value of A.

    Section – B {2 marks}
5. If 
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 then find the value of 
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6. Find the HCF if 305 & 793. Also express the HCF in the form 305a+793b for some integers a &b.               [-5, 2]
7. If tanA=p/q, show that 
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8. Show that the following system of equations has no solution. Also find the area between the two lines representing the equations in the 1st  quadrant. 
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9. In a Quad ABCD. CA=CD, 
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10. On sports day of a school, age-wise participation of students is shown in the following distribution:

	Age (in years)
	5-7
	7-9
	9-11
	11-13
	13-15
	15-17
	17-19

	No of students
	x
	15
	18
	30
	50
	48
	x
	


Find the mode of the data. Also, find missing frequencies, when sum of the frequencies is 181.
     Section – C {3 marks}
11. ABC is right triangle right angled at C & 
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12. Prove that there is no positive integer n for which 
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13. A man walks a certain distance with a certain speed. If he walks ½ km/hr faster he takes1 hr less. But if he walks 1 km/hr slower, he takes 3 hrs more. Find the distance covered by the man & original speed. {36, 4}
14. Solve for ‘p’ & ‘q’ 
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15. In ∆ ABC, if AP = BE.  PQ || BC & ER || CA. Prove that QR || AB.                      [image: image20.png]



16. If 
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17. If -5 one zero of 
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 has both the zeros equal to each other. Find K.

18. If mean is 20, find the value of P

	Mid values
	15
	17
	19
	20+p
	23

	f
	2
	3
	4
	5p
	6


19. Solve for ‘x’ & ‘y’ px+2y=5 ; 
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20. Find 
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 in the following system of equations : 
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21. Sectin – D {4 marks}
22. In any Δ ABC prove that tan 
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23. If 
[image: image30.wmf]2

cot

tan

=

+

q

q

 Find the values of 

(i) 
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24. In Δ ABC, Δ rt. 
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25. The following table gives the marks obtained by 55 students in a class test. Find the mean : 

	Marks
	More than 0
	More than 10
	More than 20
	More than 30
	More than 40

	No. of students
	55
	50
	40
	20
	5


26. Prove that 
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27. Given that the zeros of cubic polynomial 
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 are of the form a, a+b & a+2b for some real n umbers a & b find values of a & b also find the zeros.
28. In the adjoining figure (ABC=(CDB=(PQR=90(. If AB=x units, CD=y units & PQ=z units, Prove that 
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29. Find k so that 
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. Also find all zeros of two polynomials.

30. Akshay is a student of class X. He used to enjoy pizza almost every day of the month but when his biology teacher explained the relevance of eating healthy foods, he started having ‘k’ pizzas every month where ‘k’ is the part of the following trigonometric function
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(i) How many pizzas Akshay eats per mmonth now? 

(ii) What value expressed by Akshay?
31. If (n-k) is a factor of the polynomials x2+px+q & x2 + m x+n.  Prove that 
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Please send your queries to  vishvas_1@ymail.com
Students must go through ncert book first.
This paper is little difficult, 

 Just to check how much u can apply concepts.

     All the best
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